
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
  Ως	
   σύστημα	
  οργάνων	
  θεωρούμε	
   ένα	
   σύνολο	
  από	
  όργανα	
  που	
  συνεργάζονται	
  
για	
  την	
  πραγματοποίηση	
  μιας	
  λειτουργίας.	
  
	
  
α)	
   	
   Να	
   ονομάσετε	
   τα	
   συστήματα	
   οργάνων	
   που	
   υπάρχουν	
   στον	
   ανθρώπινο	
  
οργανισμό	
  (5μ)	
  
	
  
β)	
   	
   Ποιο	
   σύστημα	
   οργάνων	
   είναι	
   υπεύθυνο	
   για	
   τη	
   μεταφορά	
   οξυγόνου	
   και	
  
θρεπτικών	
  ουσιών,	
  ποιο	
  για	
  την	
  στήριξη	
  και	
  την	
  προστασία	
  του	
  οργανισμού;	
  (3μ)	
  
	
  
γ)	
   	
   Σε	
   πολλές	
   περιπτώσεις	
   είναι	
   δυνατό	
   δύο	
   διαφορετικά	
   συστήματα	
   να	
  
συνεργάζονται	
   για	
   την	
   πραγματοποίηση	
   μιας	
   λειτουργίας.	
   Να	
   αναφέρετε	
   ένα	
  
παράδειγμα	
  τέτοιας	
  συνεργασίας	
  μεταξύ	
  δύο	
  διαφορετικών	
  συστημάτων.	
  (4μ)	
  	
  
	
  

ΙΙ.	
   Τα	
   ώριμα	
   ερυθρά	
   μας	
   αιμοσφαίρια	
   αποτελούν	
   το	
   είδος	
   κυττάρων	
   του	
  
οργανισμού	
   μας	
   χάρη	
   στα	
   οποία	
   μεταφέρεται	
   οξυγόνο	
   στους	
   ιστούς	
   και	
  
απομακρύνεται	
   διοξείδιο	
   του	
   άνθρακα	
   από	
   αυτούς.	
   Να	
   απαντήσετε	
   στις	
  
ερωτήσεις:	
  

α)	
  Ποιο	
  είναι	
  το	
  σχήμα	
  των	
  κυττάρων	
  αυτών,	
  πού	
  οφείλεται;	
  (2μ)	
  

β)	
   Πώς	
   ονομάζεται	
   η	
   πρωτεΐνη	
   που	
   κυρίως	
   περιέχεται	
   στο	
   κυτταρόπλασμά	
   τους;	
  
Πού	
   οφείλεται	
   το	
   γεγονός	
   ότι	
   άλλοτε	
   έχει	
   λαμπερό	
   και	
   άλλοτε	
   σκούρο	
   κόκκινο	
  
χρώμα;	
  (3μ)	
  

γ)	
  Πόσο	
  χρονικό	
  διάστημα	
  ζουν	
  τα	
  κύτταρα	
  αυτά;	
  Σε	
  ποια	
  όργανα	
  του	
  σώματός	
  μας	
  
καταστρέφονται,	
   όταν	
   εγκαταλείψουν	
   την	
   κυκλοφορία	
   του	
   αίματος;	
   Τι,	
   τελικά,	
  
συμβαίνει	
  και	
  ο	
  αριθμός	
  τους	
  διατηρείται	
  σταθερός	
  στον	
  υγιή	
  άνθρωπο;	
  (4μ)	
  

δ)	
   Σε	
   ποιο	
   κληρονομικό	
   νόσημα	
   μεταβάλλεται	
   το	
   σχήμα	
   των	
   ερυθρών	
  
αιμοσφαιρίων;	
  Πού	
  οφείλεται	
  η	
  μεταβολή	
  του	
  σχήματός	
  τους	
  και	
  ποια	
  η	
  συνέπειά	
  
της	
  στην	
  υγεία	
  του	
  ανθρώπου;	
  (4μ)	
  	
  

	
  
ΘΕΜΑ	
  Δ	
  
	
  
Λαμβάνοντας	
   υπόψη	
   ότι	
   σοβαρές	
   αποκλίσεις	
   από	
   το	
   φυσιολογικό	
   αριθμό	
  
χρωμοσωμάτων	
  οδηγούν	
  σε	
  μη	
  βιώσιμα	
  έμβρυα	
  να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  	
  

	
  
I. Πόσα	
  χρωμοσώματα	
  έχουν	
  το	
  φυσιολογικό	
  σπερματοζωάριο	
  και	
  το	
  φυσιολογικό	
  

ωάριο;	
   Ποιο	
   είναι	
   το	
   είδος	
   της	
   κυτταρικής	
   διαίρεσης	
   χάρη	
   στο	
   οποίο	
   οι	
   δύο	
  
γαμέτες	
   απέκτησαν	
   αυτόν	
   τον	
   αριθμό	
   χρωμοσωμάτων;	
   Πώς	
   ονομάζονται	
   τα	
  



κύτταρα	
  που	
  υφίστανται	
  αυτό	
  το	
  είδος	
  κυτταρικής	
  διαίρεσης	
  ώστε	
  να	
  προκύψει,	
  
αντίστοιχα,	
  	
  το	
  ωάριο	
  και	
  το	
  	
  σπερματοζωάριο;	
  
	
  

II. Τι	
   θα	
   μπορούσε	
   να	
   συμβεί	
   αν	
   ένα	
   σπερματοζωάριο	
   με	
   δύο	
   κεφαλές	
   (και	
  
συνεπώς	
   δύο	
   πυρήνες),	
   σε	
   μια	
   υποθετική	
   περίπτωση,	
   γονιμοποιούσε	
   ένα	
  
φυσιολογικό	
  ωάριο;	
  (12+13μ)	
  

	
  


